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THE INSTITUTE OF BANKERS, BANGLADESH (mB)

97Th Banking Professional Examination, 2023
JAIBB

Prmclplcs of Economics (PO E)

Subject Code 10

Time—3 hours
Full marks—I100

Pass marks—45
[N.B. The fi, gw ‘es in the r:gh! margin md:ca!e fzdl marks. Answer any five quesnom ]
Marks

What are positive and normative economics? 4
“Economic models are used to test economic theories’ —E‘xplam 8
the notion with example. : |
What are the economic resources that we use to produce goods 8
and services? Explain. .
What is the difference between ordlnal utility and cardinal utility?
Explam ‘Indifference curve’ and ‘Budget line’ with the help of graph. 8
Why the Indifference curve is convex to the origin? Why two 8
Indifference curves cannot intersect? Explain with the help of graph.
Define substitute goods and complementary goods. Use examples. + 4
Due to recent global turmoil, the price of fuel has increased, As

~ the consequence of fuel price hike, what would be possible
(rational) effect on demand curve of motor vehicle? E\;plam with
the help of graph.
If the price of milk increase, what will happen to the demand for 8
coffee? Explain with the help of graph.
Explain the four determinants of price elasticity of demand. 6
What is the income elasticity of demand? Demand for luxurious 6
goods is elastic—Explain.
On a supply and demand diagram, show the equilibrium price, 8
equilibrium quantity and the total revenue received by the producer.
Define oligopoly market. 4
A perfectly competitive firm earns zero or a normal proﬁt inthe 8
long run. Explain with the help of'a graph.
Assess the banking industry of Bangladesh based on the features 8

(c)

of the market structure and comment on the market structure of
the banking industry in Bangladesh.
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(i)

(ii)-
- (ii})

(iv)
v)
(vi)

Progressive taxes and proportional taxes.
Income effect and substitution effect
Managed floating exchange rate
Demand pull inflation |
Increasing returns to scz_tle

SMART rate.

_ Marks
(a) What i is the pt ice cenlmg and pnce ﬂoor" ‘ L 4
(b) What is market failure? What are the key factors responsible for 6
market failure?
* (¢) “Asymmetric information may cause moral hazard problems in the 10
banking industry” E\tplam
-(a) What is employment" Explain the dlfferent types of unemployment 6
in an economy. ,

(b) Whatis ‘Seigmorage"? Does it cause mﬂatlon‘? 6
) Accordmg to the central bank even if new money is prmted and 8
provided to the government, it will not affect inflation much.
Because a lot of money is being w1thdrawn by sellmg dollars

| :through open market operations. Explam your.opinion,
(@) What is ‘Crowding out’ effect? How it happens‘? ' 4
(b) What is collusion? Why it is very dlff' cult to mamtam an 6
ollgopoly cartel‘7 _
(c) - The country E overall development is hampered if the pnvate 10
. sector’s growth is mh_lblted Explain.
(a) Define and distinguish nominal interest rate and real interest rate. 4
(b) Considering the current economic situation, which one do you 8
~ suggest; expansnondry or contlactlonary monetary policy. Explain
with logic. .
(c). :Discuss the causes of current unfavorable Balance of Payment 8
| (BoP) situation of Bangladesh. What steps do you suggest to solve
the current BoP crisis..
Write short notes on any four of the folloWings : 5%x4=20
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